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Physics–Year XI				Worksheet 			       Term II (2023-24)
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The diagram shows a stone of irregular shape.

Which property of the stone can be found by lowering it into a measuring cylinder half-filled with
water?

A length
B mass
C volume
D weight

Which row describes speed and velocity?

speed velocity
A scalar scalar
B scalar vector
Cc vector scalar
D vector vector

Four balls with different masses are dropped from the heights shown.
Air resistance may be ignored.
Which ball has the smallest average speed?

A B c D
1.0kg

2.0kg

3.0kg

40m
4.0k

9 3.0m
20m

1.0m ground
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4 Anobject of mass 2.0kg is taken from the Earth, where the gravitational field strength is 10N/kg,

to the Moon, where the gravitational field strength ~ * @'/t~
Advertisement

Which row is correct?

weight on weight on
the Earth/N | the Moon/N

A 0.20 0.80
B 0.20 3.2
Cc 20 0.80
D 20 3.2

5 The mass of an empty flask is 34 g.
The volume of liquid added to the flask is 20 cm®.
The total mass of the flask and the liquid is 50g.

What is the density of the liquid?

A 0.80g/cm® B 1.25g/cm®* € 250g/cm® D 4.20g/cm®

6 The extension—load graph for a spring is shown. The unstretched length of the spring is 17.0cm.

3
extension/cm

0 1 2 3 4
load/N

When an object is suspended from the spring, the length of the spring is 19.2cm.

What is the weight of the object?
A 14N B 16N C 26N D 3.0N
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A cart has a mass of 10kg. A boy pushes on the cart horizontally with a force of 50 N. The cart
accelerates at 0.50m/s%

What is the frictional force acting on the cart?

A 50N B 20N C 30N D 45N

A ball has a mass of 2.0kg. The ball approaches a wall at a speed of 3.0m/s and rebounds at a
speed of 1.0m/s.

wall\]:F 3.0m/s
[ ——
§ 1.0m/s

What is the impulse on the wall?

A 40N B 4.0Ns C B8ON D 8.0Ns

Which situation involves no work being done and no energy being transferred?
A acar skidding to a stop on a road

B acrane lifting a load

C aheavy load hanging from a strong bar

D

a student dragging a big box over a rough floor

A student suggests that there are several ways of transferring energy to a small, stationary block
of iron on a smooth table. He makes the following suggestions.

1 Heatit.

2 Shine light on it.

3 Pass a current through it.
Which suggestions are correct?

A 1and2only B 1and3only € 2and3only D 1,2and3
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